The Circular Eiow of Inconie and Expenditure

The circular flow of in ] , ‘
‘whereby the nationalincome and. sxpenditre of an cconomy Fow
a circular manner continuously through tj omy f2ow in
nents. of national income and exgendituri stlll?t?‘aztsl:v;’;grl?zi ;::;?ot.
.taxat-lo_n', gpv.erpment expenditure, exports, imports etc:, e sho\n >
on diagrams in the form of currents and cross-cu;rents in»suCth_l
. manner th.at nationali income equals national expenditure *
e begm./w“h a simple hypothetical economy where tI;erc are only’
two sectors, the household and business. The household sector 'own}s’
_-all"thc fact-.ors .of ‘production, that is, land, labour and capital. ‘This
sj._gct.o'r.recewe.s income by selling the services of these factors to the
business sector. The business sector consists of ‘producers who pro-
du_cq products and sell them to _the household sector or consumers
Thus the household sector buys the .output of products of the busi:
ness sector. The circular flow of income and/expenditure in such an
economy is shown in g :
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sector while _in the .
factor market the household sector receives income from the former for

‘providing services. Thus the household sector purchases all goods and
" services provided by the business sector and makes’ payments to the
latter in lieu of these. The business sector, in turn, makes payméﬁts :
to the households for the services rendered by the latter to the busi-
- ness— wage pas}ments for labour services, prqﬁt for capital supplied,

etc Thus payments go around in a circular manner from the business

sector to the household sector, and from the household sector to the
. business sector, as shown by arrows in the outer portion of the figure.
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The Cnrculal'l, onomy is not s explained .above. In.an economy
_‘.Thc ac‘:,tua ;2‘]eakages" occur in the expend.ltul:e and income flows.
‘ ;nilllolwskaggs are saving, and inflows or injections are investmep
Such lea y :
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whu.:h eCIusa;f:l‘] ows how the circular flow of income and expenditure
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In Figure 5.2 there is a capital or credit market in between saving
' and investment-
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FIG. 5.2 _ drdinates the saving .
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activities of the households and the business firms. The households

supply.saving to the capital market and the firms, in tu'rn, .obtain
investment funds from the capital market.
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The Circular Flow in a Three-Sector Closed Economy
So far we have been working on the circular flow of a two-sector
‘model of an economy. To this we add the government sector so as to
make it a three-sector closed model of circular flow of income and
expenditure. For this, we add taxation and government purchases



(c.,r‘ c?ppfri;ilvtvu;e)dm our presentation. Taxation is a leakage from the
;gi,u ar nd government purchases are injections into the circular

First, take the circul
governm?nt sector. Ta?(l;:sﬂoiv; :)lf;wssfmthef hOUSChOId. ggctorjand the
commodity taxe:s paid by the householy S(:: tpe.rsonal income tax and
ages from the circular flow. B ctor are ' outflows or leak-

ut the government purchases the service

of the households, makes transfer . s

ions, unempl i €r payments in the form of old age

pentshem o prgvci‘gl?em relief, sickness benefit, etc.,and also spends

ﬁgusing, Witk parks ;T:(:alnthsocxal services like educition, health,

: > an¢ other facilities. All such expenditures by
the government arc? Injections into the circular flow. -

N¢x,t take the” circular flcw between .the busin.ess sector and the
gqvernment R, A” types of taxes paid by the business sector to
the government are leakages from the circular flow. On the other
hand, the government purchases all its requirements of goods of all
~ types from the business sector, gives subsidies and makes transfer pay-
fne;lts‘to ﬁrn?s in order to encourage their production. These govern-
ment expenditures are injections into the circular flow. |

Now we take the household, business and government scctors to-
gct_he;' to show their inflows and outflows in the circular flow. As al-
ready noted, taxation is a leakage. from the circular flow. It tends to
reduce consumption and saving of the household sector. Reduced
consumption, in turn, reduces the sales and incomes of the firms. On
the other hand, taxes:on business_firms tend to reduce their invest-
ment and production. The government offsets these leakages by mak-
ing purchases from the business sector and buying sei . .ces of the
household sector equal to the amount of taxes. Thus total sales again
eqtjal production of firms. In this waﬂr, the circular flows of income
and expenditure remain in equilibrium. =y
~ Figure 5.3 shows that taxes flow out of the household and business
sectors and go to'the government. Now the government makes invest-
ment and- for this. purchases" goods from firms and also factors of
production from households. Thus government purchases of goods
and services are an injection in the circular - flow of income,and taxes

are leakages. |

If government purchases exceed n _
incur a deficit equal to the difference butween the two, i.e., govera-
ment expenditure and taxes. The- government finances its deficit by
borruwing from the capital market which receives funds from house-
holds in the form of saving.-On the ~ther hand, if net taxes exceed
government purchases the government will have a budget surplus. In

et taxes then the government will
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So far the circvlar flow of income and 'e,x-penditure has been shown
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| On'the o;her hand,

the circular flow.

Like the business ‘sector,
import goods and services,

the -business sector exports goods to foreign
countries and its receipts are an .injection in the circular flow. Simi-
larly, there are many services rendéred by business firms to forexgn

A-countrles such. as- shipping, insurance, banking, -etc. for which they .
receive payments from abrgad. They also receive royalties, interests,
dividends, profits, etc. for investments made in foreign countries. On
the other hand, the business sector makes payments to the foreign
sector for imports™ of capital goods, machlnery, raw materials, con-
sutmer goods, and services from abroad. These are the leakageg from_

= T

modern governments also export and *°
and lend to and borrow from foreign

countries. For all exports of goods, the government receives payments
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l Similarly, the government receives payments frop g
ml ’

from abroad. Si

.+ the country as tourists and for receiving edu;f‘
ners when they Vil the government provides shipping, ,insuranc‘
tion, etc. and also When foreigners through the state-owned agenciese
and banking services t0 interest, dividends etc. for investmentg mag.
It also receives roy.a]flesf: ns into‘ the circular flow. On other hande
abroad. These are 1njectio ade for the purchase of goods and serVi:
the leakages are payments m
ces to fo,‘ﬁ;g;:;iws the circular flow of the four-sector open €conomy
.anure_ . sand imports shown as leakages from the circyjy,
with saving, t;:;an d side of the figure, and investment, governmeng
flow on the rcligex orts as injections into the circular flow on the Jefy
;Z;Cg?izseaflilguré? Further, imports, exports and tra.nsfcr' Payments
have been shown to arise from the three domestic sectors—thg
boﬁsehold, the business .and the govcrnment.' T]Z.lese OUtﬂOWF‘ -and
inflows pass through the foreign .sector which is also called the
“Balance of Payments Sector.” . ,
. If exports exceed imports, the economy has a _surplus n the_ b_alance
of payments. And if imports exceed exports, it has a deficit in the
balance of payments. But in the long rum, exports of an economy
must balance its imports. This is achieved by the foreign trade policies
adopted by the economy. | '
The whole analysis can be shown in simple equations:
Y=C+I+G6 Y ¢ )
where Y represents the production of goods and services, C for con-
- sumption expenditure, I investment level in the economy and G for
government expenditure respectively. ' ‘
Now we introduce taxation in the model to equare the government
expenditure. '
. Therefore, - - Y=CH-S+T R )
where § is saving 7 is taxation.
By equating (1) and (2), we get
' C+.’_+G;=C+S+T
I+G=S4T '
. With the introduction of the foreign sectbr, we divide
into domestic investment (1) and foreign investmen
; lat+Ir+-G=S+T
But ' . ‘ Ir=X—M
‘where X is exports and M is imports
i - L (X —M)+-G=84-T1
- lat(X—M)=54(T—¢)
The‘equatlon shows the equ:l‘:bpum ~condition in the circular flow

Investment
t () and get



of income and expenditure.

: IMPORTANCE_OF THE CIRQULAR FLOW

The concept of the circular' flow gives a clear-ckt picture of the
economy. We can know whether ' the ¢conomy’ is working efficiently
~or whether there is any disturbance i its smooth functioning.
It is with the help of circular floyy that t’l/le problems of disequili-
brium and the restoration of equilibrium can be studied. —
- The role of leakages enables us to study their effects on the national
.economy. For example, imports are a leakage out of the circular
flow- of income because they are payments made to a foreign country,
To stop this leakage, government should adopt appropriate measures:
s0 as-to increase exports and decrease imports. _ ‘ » ;
Similarly, saving is a leakage out of the spending stréam. “EHis
. depresses the circular flow of income. On the other hand, corsump-
~tion expenditures are inflows. If leakages exceed inflows, total spend-
ing is smaller than output. As a result, - income and employment tend
‘to decline over a period of time."On the other hand, if inflows exceed
leakages, the spending stream is enlarged in the circular flow. This
causes income and employment to rise in the next p'eriod.‘
The study of circular flow also highlights ti;e importance of mone-
‘tary policy to bring about the equality of saving and investment in
the economy. Figure 5.2 shows that the equality between saving and
investment comes about through the credit or capital market. The
credit market itself is controlled by the government through monetary
policy. When saving exceeds investment or investment exceeds saving,
money and credit policies help to stimulate or retard investment
~ spending. This is low a fall or rise in prices is also controlled.

. Similarly, the circular flow of income and expenditure points to-

ward the importance ‘of fiscal policy. For national income to be in
' equi]ib.r-ium"desii"ed saving plus taxes (S+4-7T) must equal desired invest-
- ment plus é_overn_ment spending (/-+G). ST represent leakages from
 the spending stream which miust be offset by injections of I--G into the

income stream. If S+-T exceed I+G government should adopt such
. fiscal measures as reduction in taxes and spending more itself. On the
« contrary, if /4G exceed S+ T the government should adjust its reve-
n.u'e and expenditure by encouraging saving and tax revenue. Thus the
Circular flow of income and expenditure tells us about the importance
of compensatory fiscal policy. , '



National Income. Concept and Measurement

1. INTRODUCTION

National income is an uncertain term which is 'uscd interchangeably
put and national expenditure. Oy

with national dividend, national out .
this basis, national income has been defined in a number of ways, Ip

common parlance, national income means the total value of goods

and services produced anunually in 2 country. In other words, the
to a country from economic activi-

total amount of income accruing :
national income. It includes pay-

ties in a year’s time, is known as
~qents made to all resonrces in the form of wages, inierest, rent and

vrofits.
2. DEFINITIONS OF NATIONAL INCOME

The <= initions of national income can be grouped into two classes,
Gie, the traditional definitions advanced by Marshall, Pigou and

Fisher; and two, modern definitions. :
The Marshallian Definition._ é\ccording to Marshall: ““The labour
and capital of a country acting on its natural resources produce

annually a ccrtain net aggregate of commodities, material and im-
.material including services of all kinds . . ., This is the true net annual -
income or revenue of the country or national dividend.””! In this
__dcﬁnition, the word ‘Inet',-refers to deductions from the gross national
income in respect of depreciation and wearing out of machines. And
to this must be added income from abroad.



3. CONCEPTS OF. NATIONAL INCOME |

There are a number of concepts pertaining to national income. For
instance, Gross Natxonal Product, Net National Product, Net Natio-

nal Income at Factor Cost, Net Domestic "‘Product at Factor Cost,
Personal Income, Disposable Income, and Real Income. One by one,

‘these concepts are discussed below.

(A) Gross National Product (GNP)
GNP is the total measure of the flow of goods and services at

market value resulting from current production during a year ina
country, including net income from abroad. GNP includes four types
of final goods and services: (1) consumers’ goods and services to satisfy
the immediate wants of the people; (2) gross private domestic invest-
ment in capital goods consisting of fixed capital formation, residential -
constructxon and inventories of -finished and unfinished goods; (3)
goods ‘and services produced by the government; and (4) net exports’
of goods and services, i.e., the difference between value-of exports and
imports of goods and services, known as net income from abroad.

In this- concept of GNP therc are certain factors that have . to be
taken into consideration. First, GNP is the medsuré of. money, i
which all kinds of goods and services produced in a .country . dl{r,iﬂg
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| Third. goods and services I€
. GNP, because it is not possible to’have a correct estimate of their.
market prices. For example, the bringing up of a child by the
mother, imparting instructions to his son by a.teacher, recitals to
1 his friends by a musician, sculpturing as a hobby by a sculptor, etc.
f Fourth, the transactions which do not arise from the produce of
i _ current_year or which do not contribute in any way to production, are
i not included in GNP. The sale and purchase of old goods, and of
shares,  bonds and assets of existing companies are not included in
ke any addition to the national

[ .
GNP, because these do not ma
product, and the goods are simply transferred. Likewise, the payments

Er[]elc;:;;e: under social. —secu'rity, e.g, unemployment insurance
7 vance, old age pension, and interest on public loans at
“included in GNP e s are also not
Incl in , because the recipients do not provide any service
in 1.teu oif ‘then?. But the depreciation of machines, planté‘and oth
capital goods is not deducted from GNP. 2
B gftl;, ]thg .profits earned or losses incurred on account of changes
inclu f]); da’-.?s,f-;s ai} ?\1 ;est‘}lt of fluctuationsiin market prices, are not
2 1 e GNP if they are not responsi :
- = poasible for curren
;Z:eqr ;9;)11 (?C;I‘!I.C activity. For example, if the price of a ho;spr'Oduc‘
i xtl)o-it , gn 1 . increases “due to inflation, the profit earned b és cl)lr a
ortion f"e 2 parf of GNP, but 3, during the  current Yent. 8
51. fo OI='3 1,3¢u.5_e,ﬂ15_C0nstructed anew, the increase i year,” a
1e ouse '(after _subtractmg the cost of the newl Sl
will be included in the. GNP. Similarly var-at-?"cons‘mcted portion)
: ' : ' . ’ 1ations in -
assets, that can be ascertained beforehand and!are‘?mltll:gdvalue. of
] £ ey 1 | against




flood or fire, are not included in the GNP.

Last, the income earned through illegal activities is not included in
the GNP. Although the goods sold in the black-market are f)riced
and fulfil the needs. of the people, but as they are not useful from the
social point of view, the income received from their sale-and purchase
- is always excluded from the GNP. But there are two main reasons
for this. One, it is not known whether these things were produced
during the current year or the preceding years. 7wo, many of these
goods are foreign made and smuggled and hence not included in

the GNP.

Three Approaches to GNP

A_fter having studied the fundamental constituents of GNP, it is
essential to know how is it estimated. Three approaches- are
employed for this purpose. One, the income - method to GNP; two,
the expenditure method to GNP; and three, value added method to
GNP. Since the gross income equals the gross expenditure, GNP
estimated by all these methods would be the same with appropriate

adjustments.

(1) Income Approaches to GNP
The income approach to GNP consists of the remuneration paid

in terms of money to the factors of production annually in a country.
Thus: GNP is the sum total of the following items:
(i) Wages and salaries. Under this head fall all forms of wages and

salaries earned through productive activities by workers and entre-

includes all sums received or deposited during a year by

preneurs. It
mmission, provident

way of all types of contributions like overtime, co

fund, insurance etc.
(ii) Rents. Total
factory, etc. and th

rent includes the rents of land, shop, house,
e estimated rents of all such assets as are used by

the owners themselves. |
the income by way of interest

interest comes
dual of a country from different sources. To
this is added the estimated interest on that private capital which is

ed and not borrowed by the businessman  in his persoﬁal'
overnmental loans has to be

~ (iii) Interest. Under
received by the indivi

invest
business. But the interest received ong
excluded, because it is a mere transfer of national income.

(iv) Dividends. Dividends earned by the shareholders from
d in the GNP.© : i
ofits. Profits which are not “distributed
ncluded in the GNP.

companies-are include
(v) Undistributed corporate pr
by companies and aie retained by them are i

]l



(vi) Mixed incomes. These include profits of "mn"OTPO.ratgd :
"‘businesses, self-employed persons and partuer ships. They form:‘.'part

of GNP. ) . :
" (vii) Direct taxes. Tax
Otk(xer,)busin'esses are included in the GNP. ek
(viii) Indirect taxes. The gO,Yefnn?ent levies & numl.)er of indirect
taxes, like excise duties and sales tax. These t.?xes are Included in the
-iﬂrices of commodities. But revenue from th¢8¢ gOFS to the govern-
ment treaéury aund not to the factors of pr.oduct.xon. ‘Tl}erﬁforc, the
«income due to sich taxes is added to the nathnal income.. ) i
' (ix) Depreciation. Every corporation makes qllf)wa‘ncc for expendi-
ture on wearing out and depreciation of machines, plants and other
capital equipmént. Since this sum also is not a part of t.he ncome
receiqu by the factors of productioﬁ‘, it is, therefore, also:included in
GNP. | _ . R
(x) Net income earned from abroad. This is the difference between
~ the value of exports of goods and services and the “value of. imports'
of go'od's' and services. If this difference is positive, then it is added '
to GNP and if it is negative it is deducted from GNP. _ !
 Thus GNP according to Income Method=Wages and Salaries+ |
Rents+-Interest4-Dividénds-+ Undistributed - Corporate Profits+ -
Mixed Incomes--Direct Taxes-+Indirect Taxé;s—I—Depreciatidn—FNet,
Income from abroad. T ' SRS

es levied ‘on -individuals, corporationg and

(2) Expenditure Approach 1o GNP _

g From the expenditure viewpoint, GNP is the sum total of expendi-
ture dhcurred on goods and services during one year in a. country,
It includes the following items: : e

(zf)‘Pr'ivd.te consumplion expenditure. 1t includes all types of ex-
penditure on personal consumption by the individuals of a cou'ntry'.

e

It comprises expenses. on -durable goods like watch, bicycle, radio
etc., expeqd;ture on snngle-.used-' consumers’ goods like milk, bread,"
ghee, clothes etc., as alsp the expenditure incurred on services of" all-

kinds like fees for school, doctor, lawyer and transport. All these
are taken as final goods. ' / 2 ent O -

estment. Under this comes the expendi-

ture incurred by private enterprise on new investment and on replace-

ment of ({ld.ﬂc'f;lpi_tal- It includes expenditure op house-construction,
factory-buildings, all types of machinery, plants and capital equip-

‘ment. In. particular, the increase or decrease in the inventory is added. -

to or subtracted from it. The inventory includes produced but unsold

manufactured dnd semi-manufactured goods during the year and, the

LY V.
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stocks of raw maternal whrch have to be accounted for in GNP. .It
_ does nct take into dccount the financial exchange, of shares and

stocks, because their sale and purchase 1s not real investment. But
.depreciation is added.

(iif) Net foreign investment. It means the dlﬂerence between expqrts
and imports or export surplus. Every country exports to or imports
from certain foreign countries. The imported goods are not produced
within'the country and hence cannot be included in national income,
but the exported goods are manufactured within the country. Thero-
fore, the difference of value between exports (X) and imports (M),
whether positive or negatwe is'included in the GNP

- (iv) Government expendzmre on goods and services. The expendlture
mcurred by the government on goods and services is a part of GNP.
Central, State -or Local governments spend a lot on their employees
police and army. To run the offices the governments- have "also’ to
spend on contmgenmes ‘which include paper, peri, pencil and various
types of stationery, cloth, furniture, cars etc. It also 1ncludes the :
expenditure on government enterprises. But expendrture on transfer
payments is not added, because these payments are not in exchange
for. goods and services produced during the current year.

Thus. GNP according to Expenditure Method——Prwate Consump-
tion ‘Expenditure (C)4-Gross Domestic Private Investment (I)+Net :
Foreign Investment (X—M)+Government Expendlture on Goods
and Services (G) CH+I+(X—M)+G.

.As already pointed out. above, GNP estimated by either the
mcome or the expenditure method would work out to be the same,
if all the rtems are correctly calculated.

) (3) Value Added Approach to GNP
‘Another method of measuring GNP is by value added. In calcula-

ting GNP the money value of final goods and services produced at
- current prices during a year is ‘taken into account. This is one of the
“ways to avoid double counting. But it is difficult to'distinguish pro-
‘perly between a final product and an,intermediate product.- For
‘instance, raw materials, semi-finished products fuels and services, etc. -
are sold as inputs by one industry to the other. They may be final
goods for one industry and intermediate for- others So, to_avoid
duplication; the value of mtermedzate products used in manufacturmg
final products must be subtracted from the value of total output of

each mdustry in the economy. Thus the difference between the value - =

of material . outputs and inputs at each stage of pr-oductlon is called
the value added If all such differences are added up- for all mdustnes

~



(B) GNP at Maﬂ"elt 1?1:::‘: tal output produced in one year by their
ultip chm Juring thaf'_ year in a country, we get (he
uct: at market prices. Thus GNP ‘at marjey
. e gross value of ﬁnql goods and services PdeUOed
prices means ountry plus net income from abroad. It inc|
0, ":ra?u: of output of all items from (1) to (4) mentioneg
the gross - '

“under GNP.

When we mullik
. market prices Prev

Gross National Pro

‘ Cost . | L
(C)G(lillr’.l;: ;aftgio:ost is the sum of {he money value of ‘1‘..°."‘,‘°9m°
- brbduéed by and accruing to the varxo.us factors of production in one
ear in a country. It includes all items mentloned above un.der
{ncome Approach to GNP less indirect taxes. GNP at market  prices
always includes indirect taxes levied by the g.overnnjlent on go(?ds:
] GNP at factor cost is the income which

which raise their prices. But G 3 ' : |
_ the factors of production receive in return for their services alone. It
is the costi of production. Thus GNP at market prices is-always

higher than GNP at factor cost. Therefore, in order to arrive at GNP
at factor cost, we deduct indirect taxes from GNP at market - prices.
Again, it often happens that the cost of production of a commodity
to the producer is higher than the price of a similar commo-
dity in the market. In order to protect such producers; the govern--
ment helps them by-granting monetary help in the form of a subsidy
equal to. the difference between the ‘market price and the cost of
production of the commodity. As a result, the price of ‘the commo-
=~ dity to the producer is reduced and equals the market price of similar -
commodity. ‘For example, if the market price of rice is Rs.3'lper kg
but it costs the producers in certain areas Rs 3.50. The government
zives a subsidy of 50 paise per kg to them in order to meet their
_ :Qst.of pro‘ducti_on. Thus in order to arrive at GNP at factor 'cost,
subsidies arc added to GNP at market prices. -
GNP at Factor Cost=GNP_ at Market- Prices — Indirect Taxes+
- subsidies. | | . : Ty

‘D) Net National Product (NNP)

- GNP includes the Yalue of total output of consumption goods and
investment goods. . But the process of Production uses up a certain
amount of fixed: capital. Some fixed equipment wears out, its other

| ¢omponents are damaged or destroyed, and still others are rendered -




P

.becaus

the ‘country from ijts own resource
.domestic- product.

v A

gss'oelzzt::’rlough technological changes. All. this process is termed -
NIP\’] iy o dor capital * consumption allowance.. In order toarrive at
o v\;e e uctfdeprecnatlon from GNP. The word ‘net” _tefers to
e exclusion of that part of total outpu ‘
t wl
tlon So NNP= GNP—D eprematlon put which represents deprecia-

(E) NNP at Market Prices
Net National Product at market prices is- the net valie -of final.

-+ goods .and
8¢ services evaluated at market prices in the course of one

year in a country. If we deduct” deprecnatlon from GNP at market
prices, we get NNP at market prices. So NNP at Market Prices=

GNP at Market Prlces—Deprematnon

(F) NNP at Factor Cost

Net Natlonal Product ar factor cost is the net output evaluated at
factor., prices.’ It includes income earned by’ factors of produetlon

through participation in the production process. such as wages ‘and
salartes, .rents, profits, etc. It is also called National- Income “This"

.measure differs from NNP at market prices in that indirect taxes.ar¢

deducted and sub51d1es are added to NNP at market prices in order

to arrive at NNP at factor ‘cost.?
Thus NNP at Factor Cost—' NNP at Market Prlces—-Indlrect taxes

: +Sub51dles

=GNF at Market Prlces-—Depreelatlon——lndlreet taxes—l—Sub-_t

- sxdles_ ST . o , :
. =National Income. E ,
Normally, NNP at market prlces is hlgher than NNP at factor cost

e “indirect taxes exceed gqvernment subsidies. However, NNP°

at market prlces ‘can be less than NNP at factor cost when govern-

ment subsnc‘nes exceed. mdlrect taxes

. (G) Domestlc Income or Product S : : .
of productlon wnthln

enerated (or earned) by the factors\
s 'is called domestlc income or .

ncludes (i) wages and salarigs,
) dividerids,

f publlc
oﬁts of

Income g

Domestic income 1
ed house rents, (iii) interest, (iv

te . profits, including surpluses O
nuxed mcomes con51st1ng of pr

(u) rents, including imput
(v) undistributed . corpora

sector undertakmgs, (W)
: se'_'-"‘
41n the relatlon between NNP at- Market Prlces and. at Factor Cost; the !

items should be explained in detaxl as glven under GNP

L
T




self-employed persons, partnershipg etc., 4
> an

unincorporated firms ,
(vii) di.rect taxc;c e does not im.:lude income Carned g
Since ’domeslso be shown as: Domestic Income:_National In_coom
. _abroad, 1t can a > ed from abroad. 'Thus the difference betwén ¥
—Net .In.come e and national income is vthe net income earneq froe
domestic income 4d net income from abroad to domestic incbmé w’m
abroaq' If -Wcofxll e. i e. National Income=Domestic IDCOme+’N;
get nauona['lchron; abroad. But the net national income earneq
Income veam; ,‘may be positive or negative. If exports exceed imports
from.-‘__abro: carned from abroad is positive. In this case nationai
net 'lnc?sl-l’l‘éat\cr than domestic income. On the other hang, when
income 1S gr net income earned from abroad ig negative

&
L .\‘ xports,

imports ¢xceed 2 fosir il 5
and domestic income is greater than national income.

(H) Private Income o | R
‘ btained by private individuals from any

~ Private income is income 0 . i
source, productive or otherwise, and the retained income of corpora-

tions. It can be arrived--at from NNP ,at Factor Cost'by making
certain additions and dedudtions. The additions include transfer pay-
.m‘ents such as pensions, unemployment allowances, sickness and other
social secufi-_ty‘\beneﬁts, gifts and remittances from abroad, wi'n-dfall
gains from lotteries or-from horse racing, and interest on public debt.
The deductions include income from government departments as well
as surpluses from public undertakings, and employees’ contribution
to social security schemes like provident funds, life insurance, ctc.
g Thgﬁ\s}Privafe Income=National Income (or NNP at Factor Cost)-
Transfer -Payments-' Interest on Public Debt—Social Security—

Profits and Surpluses 6f Public Undertakings.

(I) Personal Income o
Personal income is the tota) income received by the individuals of a

country from all sources before direct taxes in one year. Personal
~income is never equal to the national income, because the former
“includes the transfer payments whereas they are not included in
national income. Personal ‘income is derived from national income.
by deducting undistributed corporate profits, profit taxes, and emplo-
yees' contributions: to social security schemes. These three cmhponenfs
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o

(K) Real Income

are excluded from nationa] income
duals. But business and government tr
payments from abroad
windfall gains,_

income for indivi

because they do reach indivi-
ansfer payments, and transfer
nd in the form of gifts and remlttances
dualsmteres(;don public debt which are a source of

are added to national income. Thus Personal
Income==National IncC'mf=—Undlstr1buted Corporate Profits— Profit

Taxes—Social S
oy Dbt ecurity Contributions--Transfer Payments—+Interest

-th:e]r;’:;?] LnCOme differs from - private income in that it is - less thar
ecause it excludes/ undistributed corporate proﬁts Thus

Personal Income=Private Income—Undistributed Corporate Profits—

Pr‘oﬁt Taxes.

| (J) Disposable Income

Disposable income or personal disposable income means the actual
income which can be spent on consumption by individuals and fami-
lies. The'whole of the personal income cannot be spent on. consump-
tion, because it is the income that accrues before direct taxes have
actually t.)egn paid. Therefore, in order to obtain the disposable
income, direct taxes are deducted from personal income. Thus Dis-
posable Income=Personal Income— Direct Taxes.

- But ‘the whole of the disposable income is not spent on consump-
tion and a part of it is- saved. Therefore, 7he “disposable income is
divided into comumptlon expenditure and savings. Thus stposable
Income—Consumptlon Expenditure-+ Savings.

. If disposable income is to be deduced from national income, we
deduct indirect taxes plus sub51d1es direct taxes on persons.and on
business, social security payments, undistributed corporate proﬁts or
business savings from it and add transfer payments and net 1ru.)ome
from abroad to ‘it. Thus Disposable Income=0National Income—
Business Savings—Indirect Taxes plus Subsidies—Direct Taxes on
Persons——Direct Taxes on Business—Social Security Payments-

Transfer Pay'ménts—l—Net. Income from Abroad.

Real 1ncome is national income expressed in terms of a general

level of prlces of a partlcular year taken as base. National 1ncome is’
the value of goods and services produced as expressed in terms’ of
money-at current prices. But it does not indicate the real state of the
economy. It is possible that the net national rolluct of goods ancti
services this year might have been less than that of last year, bu
owing to an increase in prices, the NRNP might be higher this year.
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iy o it is also possible that NNP might have iy,
On-the c'ontraryl,_ might have fallen, as a. rcsq]t. of which

but the price level ear to be less than that of the last year.

income would 2P 'tional income does not depict the ‘rea]

e B e na o
the sntuazlon_sirt:icctify such as a mistake, the concept of req
the country. ' | |

.n propounded. iRy : d e |
ha; beigélzr::)pﬁnd out the real income of a country, a particy]a; Yyear:
no e ' "

| . s ' L price level is neither too piap
. +aken as base year when the genera S AR IR igh
iy taktz?ﬁiow” ag’d the price level for that year is assumed to be 19,
anw the general level of the prices of'the given year for Which  the
national income (real) isto be determined is assessed in accordance
with the prices of the base year. For this purpose the. following fgr.
mula is employed a | v I dex (=105
| o NNP for'the as€ Year Index (= ).
- Real NNP= Current Year ><° Current Year Index S mgd e
Suppose 1960 is the base year and the nation.al 'inco.me for-1966 is -
Rs 20000 crores and the index number for this year is 250. -Hence,

Real National Income for 1966 = 20000 x Ll '.'.———Rs-SOOQ : Crofés. -

CIeaseq
.ﬂatiOnal'

In both
State of -
| iDQOme. _

: 250
This is also known as NI at constant prices.

. (L) Per Capita‘ Incame

~ Population of the country in that year. '

Per Capita Tncome for 1987 == Natlonal income for 1981 -

£ mals _ _ Population in 1987 , ,

-Similarly, for the Purpose of arriving at the Real Pper Capita’ In-
come also, this very formula is employed. . e '

- Real Per Capita Incomé for 198] — Real national income for i_9»8.l :
L b Sl e - <y ‘Population in 1981
. This concept enables: us to know the .ailerage income ‘and (he
standard of living of the people. Byt i is not very reliable ‘because in
every country due to-unequ;al_,l_ dist_ributipn ¥ P g S0



‘4. METHODS OF MEASURING NATIONAL INCOME.

Th‘e-re arc fom‘ methods of measuring n‘ation'al income. Whicﬁ meth‘od
is 10 be emplf’yed depgnds on the availability of data in a country and’
 the purpose 1n hand. - , ' gt
(P '('o_d ¢t Method. According to this:method, the total value of
final goods and\services produced in a éountfy duﬁng' a year is calcu-
Jated at market prices. To find out the GNP, the data of all productive
aqtivitieS, Sllf?h B;S‘agricul'tural products, wood received from forests,
mineral TeCe1ver from mines, commodities produced by industries, the
contributions. to production ‘made by transport, cOmfnunicatio‘h_é, .
insurance corgpanies,__lgwyerS, doctors, teachers etc. are collected and
assessed at market prices. Only the final goods and services are
included and the intermediary goods and services are left out.t
- (2) Inconve Method. According to this method, thé net income pay-
ments received by all citizens of a country in a particular year ate
“added up, i.e., net incomes that accrue to all factors of production by
- way. of net rents, net wages, net interest and net profits are all added
- together but incomes received in the form of transfer ‘payments are
not included in it. The data pertaining to income are. obtained. ‘from
different. "s"burces,_fof instance, from income tax department in Tespect
of high income groups and in case of workers from their wages bills.?
(3) Expenditure Method. Ac;;ording to this Ame'tho.d. the total expen-~
~ diture- incurred by the scciety in a particular year is added together -
and includes personal consumption expenditure, net domestic - invest-
ment, government: expgnditurq‘on goods and services, and net foreign
investment. This concept s ‘based op the assumption that national
income equals national expenditure.’ : ‘ R -
 (4) Value Added M ethod. Another method of measuring national
income is the value added by industries. The difference between- the
‘ﬁal’tje of ‘material qﬁtputs and /inputs at each stage of production is s
the value added. If all such differences are added up for all industries
in the economy, We arrive at the gross d_omestic»ti)r‘oduct.9 )

5 DIFFICULTIES IN THE ME.ASUREMENT OF NATIONAL INCOME" -

: .

'Tf) calculate -the national . income of a country is @'complicatga
problem and is; beset with the f oliow' ag difficulties: '



y of defining ‘nation’ in national

. | ies, but in the national
i Every nation has its political boundagtcz,y the ationleE
income. Ev y et cluded the income earnt-e e oF thiat
Jhi ai'soelil;d country beyond the ferlioHa oRn0g '
country 1n a for ‘

country. : “measured in money, but thepe are 2
(2) National income is always hich are difficult to be assessed in -

and services Wt o o
numbmf Ofong: oc&lasg" painting as a hobby by an individual, th‘; br;ing"
ingup ofchildren by the mother.Similly, when the owner of a firn

o it B : -vices, though a part of
. k tary, her services, ; !
married to his lady secre A >
lg;zttional'incomé, are not included in it. By excluding all S‘LCh se:;/;:ei:
fiom it the national income will work out to be less't an what i
) . .

'(1)'Fix;st there is the difficult

ac:g;ﬂ'll)"hles.greatest difficulty in calqulat'ing' the nati(?n:;'ll 111'cqme 1s of
double counting, which arises from the failure to dlstlngmshvpf_qpegly
between a final and an intermediate product. There always- exists the
fear of a good ora service being included more than _oncc?. If it so
happens, the national income would work out to be many times ‘the
“actual. Flour used by a bakery is an intermediate product and that by
a household the final product. “To solve this difficulty, only the final

goods and services are taken into account, and that is not so easy a
task,

(4) Income earned through ‘illeg'al' activities such as.gambling, or
illicit extraction of wine, étc. is fot included. in national income . Such
goods: and- services do have value ana meéet the needs of the consu-

mers. But-by leaving them out, the national income works out to less
than the actual. T ' : : '

increases or decreases in the market value of theif %

changes in demand are excluded from the GNp bed lflslzlt;llc hascshet_s or
do not result from current economic activitjeg - It is Sl s anges
gains or losses are the result of thg.current flow Or non-flo C?Pltal
ductive activities that they ar@; included in the GNp. < W of pro-

o A o il - “Those ¢h
in the valuejof goods that result from Ungovernable o unpredicizgl:es

ccauses are'treated as accidental shifts that are outside current activity



proper. Those changes i i e "
- <¢.such ds ges in value that can be anticipated and insured
against, as fire and flood, are ‘al _ :
: t for such shifts i , are ‘also excluded because the adjust-
men ch shifts in value has already b oai _

ration of . ready been charged against the
operati previous years through insura : "

" Al .inventory nce premiums.

(7) ory Changes whether . . )
: GNP. The . negative or positive are incluged
in th'e - T e“procedure is to take positive or negative changes;, in
physical units of inventories and multiply them b A _
this figure ‘s added to te ply them by current prices. Then

e fo Tt Brm s 0 tota.l current production of the firm, But the
fhan iy replacemeﬁ{record inventories at their or»iginal‘ costs rather
ok valile of inf = £OSIS. When‘ prices rise there are gains in the
o 5o the book enl_o_rnes. (?mtr_anwme, there are losses when -prices

' 1 N i of inventories overstates or understates the

actllla t.lnve\l}tor;es, . Thus for correct” imputation of GNP, inventory
evaiua 103 18 r,e_c_l.u}re@ A negative valuation adjustment is made for
gams anc. & \P.(?snn'fe valuation adjustment is madé for losses. ‘But
inventory vaiuation is a very difficult and cumbersome procedure.
- ©®) Wh‘enrw.e_r deduct capital depreciation from GNP, the sesulting
measure 18 NNP. Depreciation is a charge on profits which lowers
nat'lonql income. Bu’ﬁ: the problem of e',stim’ating the current depreciated
value of a piece of capital whose expected life is.ﬁftj' years is very.
dlﬁicult. The usual practice on the part of firms is to hase their depre-
ciation -provisions on the original cost of their assets. When prices of
capital go_ods_are changing, the .annual depreciation provis’-io_n' will
then measure the cost of using fixed assets for some fifty years (i.e-,
the time when the assets were bought) rather than the current cost of
using them. Unlike inventories, a depreciation valuation adjustment
is full of statistical difficulties, such as the age-composition of the
whole capital stock, and changes in prices of capital goods every year
since/the assets were bought. | |
- (9) Another difficulty in calculating national income is that of price-
changes which fail to keep stable the-measuring rod of money for
national income. When the price \levelé in the country rises, the
national income ‘also shows an increase even though the production
might have fallen. On the contrary, with a fall in price level, the

e shows a decline” even though the production might.
onal income cannot

y, the statisticians
me, according to
in terms of prices
m of calculating

national incom
have gone up. Thils_due_ft'o' price-changes the nati
be' adequately measured. To solve this difficult
"have introduced the concept of real national 'inco
which the prices of the year in question are assessed
- of the base year. But this does not solve the proble

: | | i i ure the
the national mcome, because the index numbers which .meas
s the national mcomc d?.ta

price-changes .are just rough estimates. ‘Thu



isleadinig and unreliable. oot R B 4,
~'ar.‘z1l(l)1)l'sr&ﬁ$ogvén,“the calculation; 01: nalt__l.onal mcI:oxcxlag in tt?rms of
‘money is,iind'er-cstimation of ;eal nationa income. t Qes.notf}n&lgﬂc

" the Iéisure foregone in the process of production of a commodity. The
' incontes garned by two indi\(jdua]s.may,-b? equal,' .bll,t‘.lf ane of them
wiorks for longer hours: than the other,;wquld«\ltibe correct to-some
éifcnt to :,séxy that the real in"co"me of the former has been ul}.dﬂ'sta.tpd,
_Thus national income does not take into consideration the actual cost

of p,r,ddu'ctio‘n'of a commodity. = | : s
“(11)In calculating national income, a good number of public sery;-
ces are also taken which cannot be .“e,stim‘ated correctly. How should -
the police and military services be estimated? In the days of war, the
forces are active, but during peace they rest - in cantonments,
Stmilarly, to estimate the -contribution made to national income by

p;dﬁfs_.ea;n¢d on irrigation and power-projects in terms of money is
-also a difficult problem. S



6. IMPORTANCE OF NATIONAL INCOME ANALYSIS

National income data are of great importance for the "economy":of a
country. - These days the national income data - are regarded as

accounts of the economy, which are known as social accounts. These |

réfer to net national income. and' net national expenditure, which
“ultimately équal each other. Social accounts tell us how the aggrégates
of a mnation’s income, output and product result from the income of
different - individuals, products of industries and transactions of inter-
national trade. Thir main constituents are inter-related and each
particular accounts can be used to verify the correctness of any other
account. Based very much on social acc,ou‘nts", the national income
“data have following importance. o ‘ :
“National incorhe data form the basis of national policies such as
“employment policy, because these figures enable us to know the direc-
tion in which the industrial output, investment and savings etc. change,.
~ and proper measures can be adopted to bring the economy to the
_right path. o - -
- Tn the present age of planning, the national data are of great
-importance. For. economic planning it is essential that the daté. per-
' taining to a oceyntry’s gross income, output, saving; censumption
from different sources should be available. Without these, planning
“is not possible: Similatly the economists propourid short-run as well
“as long-run economic models or long-run. investment models in which
the national income data are very widely used. |
‘The national income data are also made use of by the research
‘scholars of .economics. They make use of the various data Qf the
country’s input, output, income, saving, consumption, investment,
~ employment etc., which are obtained from social accounts.



36 Macrqeconomlc Theory

Natlonal income data are significant for a .country’s pert caplta
income which reflects the ‘economic welfare of the country. T he
h1ghex the per capita income, the hlgher the economic welfare and
- vice versa. -

National income statistics enable us to know about the distri-
bution of income in the country. From. the data pertaining, to wages,
‘rent, interest and profits we learn of the disparities in the incomes of
-different sections of the society. Slmllarly, the regmmﬂ dlstnbutlon
of i income is revealed It is only on the basis of these that the govern-

ment can adopt measures t0o remove the mequalttles in income
d1str1butlon and to' restore reglonal equlllbrlum With a view to
removing these personal and regional disequilibria, the decisions to

levy more taxes and increase public expendlture also rest on natlon;'ﬂ:
income statistics. ~



